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Run 4578 triggerwise, sums: All

Entries: 4367088

Mean: 4382.2894 +/- 2.0446

Std Dev: 4272.6697 +/- 1.4457

Run 4578 triggerwise, sums: All
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Run 4578 triggerwise, sums: Beam OFF

Entries: 2837

Mean: 1281.2531 +/- 18.8390

Std Dev: 1003.4322 +/- 13.3212

Run 4578 triggerwise, sums: Beam OFF
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Run 4578 triggerwise, sums: Beam ON, Laser ON
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Entries: 1201335

Mean: 5192.7414 +/- 4.6830

Std Dev: 5132.8317 +/- 3.3114
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Mean: 5206.2725 +/- 4.6896

Std Dev: 5138.2025 +/- 3.3160

Run 4578 triggerwise, sums: Beam ON, Laser ON

0 10000 20000 30000 40000 50000
0

20

40

60

80

100

120

140

3
10×

Run 4578 triggerwise, sums: Beam ON, Laser OFF
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Entries: 946963

Mean: 3383.0245 +/- 2.5978

Std Dev: 2527.9772 +/- 1.8369

Entries: 946277

Mean: 3383.9520 +/- 2.5863

Std Dev: 2515.8241 +/- 1.8288

Run 4578 triggerwise, sums: Beam ON, Laser OFF
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